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1. Answer the following questions :
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GROUP A

(New Course)
1x10=10

eod et Teg @l

(n)

(b)

(©)

)

(e)

What is data model ?

Data model St ?

What is meant by base address of an érray g
“j@lt?'l?l- base address JeTC® F (IR 2

What is linked list ?

Linked list 1 ?

What is a concrete class ?

Concrete class ! ?

What is to be done to make a data member static ?

Data member B static T8 T | IO I ¢

()  Observe the following C++ code and write the name(s) of the header
file(s), which will be essentially required to run it in a C++ compiler :
T C++ code T Ot T o Tl <R A6 G C+ SR
run AT G 7O l@? ST header Fi2eT (@fe))-7 W (@fT) ool :
void main ()

{ char Text [30], C;
cin>>Text ;
C = tolower (Text [1]);
cout<<C<< “is the second char of ” << Text<< endl ;
(¢) Define the term ‘firewall’.
‘Firewall’ #If5 /1 S |
28T CSCA (BENG) [2]
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i) .Why is D ¢
o ROP. TABLE COITlmand in SQL used ?

9 DROP! TABLE command (9 IR x4l i’f? i

(1) Why IS an inverter also called a NOT 8ate 4

Inver fer & e NoT gate-s i
(7) What is a Kamaugh map ?

Karnaugh map § ?

2. Answer the follong quesnong 7 it s o | 2x10=20 .

T eefm e TR -

(ﬂ) What is a default ‘constructor ? \? What is its role ?
_ Default constructor ﬁ:ﬁ ? &‘KI ol 3?[ ?

(b) Why are bmary files faster and easier for a program to read and
write than text files ? o

@ (EllSlicTa =y (& Binary, Tesefel Text ‘«FT?{?T@%{ (& AT R
(SR (8 woed @ @M 2 -0

(c)  What is Base class ? What is derived class ?

Base class S ? Derived ciass F1.?

(d) Differentiate between data type and data structure.

Data type @<® data structure-4 3CXJ AL (7S |

(¢)  What do you understand by polymofphism? .
Polymorphism <e1C9 F @RI

) What is the difference between virus and worms in the computers ?

affﬁvim virus @R worm-4s ¢y AN F] 2

28T CSCA (BENG) o [3] o Coptds
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(i)

7

3. (a)
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How does a mcmber functlon d1ffcr fro

If the values of A, B and C are given as A
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m an ordinary functlon?

9B member function G(o. ordma1y funct1on (AT ?J‘?I@K?T "IQRF @? 2 ;
L1 B~ 0, Crilthening |
the value of X after evaluating the followmg Boolean expression :

it A, B @38 C- TPIE A= 1, B-—O C=174,9 Wﬁzﬂiﬁm ,
chxmwﬁcﬁw

X A B+B+C

Draw a log1c circuit diagram for the followmg Boolean expressmn :'

ﬁﬁwm@mqﬁﬂwwﬂawaﬁﬁwﬁ’wm
F= WX+YZ |

* Verify the following‘ algebraically : |
- JreeiifTstrerca T ARG« !

(A"+ B')-(A +B)=A""B+A-B'

Find the syntax error(s) (if any) in the foﬂowmg code and correc?t) ‘

them :

fﬁmcodeﬁt— W—mm@% @?IW@%?F@T

class MyStudent

[ int Studentld =101
~ char Name[25] '
public :

MyStudent() {} '
void Register() {cm >Studentld ; gets(Name);}

void Dlsplay)) cout<<StudentId<<” <<
Name<<end]; }

b .
void main()
{ MyStudent MS;

Register.MS( );
MS.Display( );
} .
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s (b) AnSWert
Class ;xhe questlons (z) and (u) after gomg through the followmg:\ o

Ll e
i1k

class-aa %ﬁ- (z) aﬂa\ (zz) amzr %@z wm

’ Class 1nterv1ew et A AT i ”
ity S al m’f month' :
| ’PUbhc +3 EALIGIRY
i InteereW (int y) {month y,} 1| Constructor 1
to Interwew (Interview &t); '~ H Constructor 2
-' ‘i(‘l) L Create an Ob]ect such that 1t 1nvokes Constructor 1. 5

L‘Rﬁ% ObJeCt create mz— Lﬂﬁ Constructor 1 mvoke ESIGH

(i)  Write complete definition for Constructor 2. 2
Constructor 247 Vi“?i‘f T (eTCAT |
(¢)  Define the constructors for the following definitions : - 3

fﬁm» @S constructor @6 39 A
Class A { |

int x;

float y;

public :

A (int, float);

7
Class B : public A

{
public :

28T CSCA (BENG) f (5] G



(d) Comment on ‘the eff1c1ency of linear:search and binary search 1

@

- Write a function in C++ which accepts an mteger array ‘and its siz

‘array ? 7 Why is stack called a LIFO data structure: 2
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relation to the number of elements in the list being searched. 3

List ot ! GoAMIGER A Siare List-fb search, WW linear
search L‘N\ blnary search-ag W‘ﬁ“‘!’q' %"{?I ﬂ@?ﬂ ﬁ‘?@TI :

Or/ T |

e
3.

as parameter and 1earranges the array in reverse.

SR TRYF GO *&/sT R, 9T size, ‘parameter il 2 W M Ik
E"C_?T ?P‘C?I ?Bﬁw Wﬁ Gelj C++ (S u‘l?b‘l% functlon Cﬂ(ﬁﬂhl

sed in an -

What is the dlfference between an array and a stack hou gy

G W& R DI &R (PO stack- I vn‘@ @TQIW ? Stack .
& (@ LIFO data structure Bl @ ? :

Or/ <

Given the following class :

157 class CV(\‘B?NW: | |

e 1

char * msg [ ] = {“overflow”, “underflow”};

', class Stack

{

int top,

stk [5];

void err_rep(inte_num) {cout<<msg[e_num];}
public : | “

void int( ) {top = 0;}

void push (int);
_ void pop();

28T CSCA (BENG) [6]
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_Explam the term key Name the four types, of keys
Key WWWWI BI 2 key~9 Al

" Systems.
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Def‘ I 2
undl:reﬂopop OUtSIde‘ ‘the' stack. Ln your deflmfion;*'take "care oi
overﬂowW COndmoH PunC’Clon pop has to 1nvoke. err_rep to repor3
StaCk-m ]: I pOP defme AT Def1mt10n—&£1 unde1ﬂow condition-4g

ik O ORETH. Wl Overflow report R W POP; funcﬁon-ﬁ

err T “
ep 11W01<6W5\‘C<1‘l T MR S

1+2=3

Or/ ?47'9/?7‘

EXplam the three 'types of data models avaﬂable for database

3

Database system—él‘q' Gl ZQJ ﬁw data model RURL I

and data

leferen’aate between data def1n1t1on language 3

mampula’aon language

. Data definition language 6.]21'\ data mampulatlon language 61?1' R&]

N e |

or/ w3l
Write an SQL "comfna'nd to create a table (ITEM) with ‘these
attributes : | 3
54 attribute @%’WW (0 table (ITEM) create I W @6 SQL
command (&TCHT : '

Itemcode inte qer
Description char (25)
Price . float (5,2)
Qty | integer

Set the Itemcode .as the primary key of the table. Any attribute
should not allow NULL values.

Itemcode-o  table-43 primary key AR set TN (T (A attribute- |

Q@ NULL value allow (S 1 |

28T CSCA (BENG) [7] Contd.
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(h) Descrlbe the three bas1c types. of cables.
R ﬁ 312151'@?[ W cable-élzl‘ ﬁm ?Icfsﬂ Wl
: | EE R Or/W?/aT
erte short notes on the followmg PR crialle 3
‘ﬁm—@ﬁwﬁs\;ﬁam ik
; (i) ° Repeater
(ii) . Bridge
(1) 'RQuter
4. Define a class Candidate in C++ with the followiing description : 4
S (e TR W C++-99 G class Candidate I FCI
Private members : ,
e A data member RNo (Registration Number) of type long
« A data member Score of type float
¢ A data member Name of type string
‘e A data member Remarks of type string
e A member function AssignRem( ) to assign Remarks as per the Score

obtained by a candidate. Score range and the respective Remarks are
shown as follows :

Score Remarks

> =50 Selected
Less than 50 Not selected

Public members :

. A function ENTER() to allow user to enter values tor RNo, Name,
Score and call function AssignRem() to assign the remarks.

. A function DISPLAY() to allow user to view the content of all data
members.

28T CSCA (BENG) [8]



Consu:ler the -
below . lelowmg deClarauon and answer the questlons g1ven

T O lae ﬁﬁw e w@%a %m e

(a)

()
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\Or/927 \

4

class Vvehicle
~ Private :;
int _wh_eéls;
- protected
Int- passéngef;_
pubhc i £
void 1nputdata (int, 1nt)
'} void outpgtdata(),
| class heavy vehlcle protected Vehlcle
{int diesel _petrol;
. Pprotected :
. int load;
public :.
void readdata (int, mt)
void writedata ();
17
class bus : private heavy_vehicle

{
char make [20];
public :
void fetchdata(char);
void displaydata( );

5

Name the base class and derived <class of the class
heavy_vehicle.

heavy_vehiclé class 04 base class @38 derived class~49 A (ECRA |

Name the data member(s) that can be accessed from function
displaydata( ). -

displaydata( ) &[0 access IS 211 data member (&)= AN @

28T CSCA (BENG) [9] | Contd.
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(¢) Name the data membe‘r(s) that.can be accessed by an object of bus
class.

bus class-43 Objc_cts access ?P?C@ 9ﬂ?ﬂ‘ data rnember (\J’ﬁ)Zf ‘TISI (ET'Q“I

(d) ls the member function outputdata() acce551ble to the: objects of
- heavy_vehicle class ?

heavy_vehicle class~4= ob]ects-u‘l?l"ﬁﬁﬁ outpu’cda’fa() P 'if Acceselble
= W2 ‘
5. Write four advaritages of inheritance. 4
Inheritance-98 59/ vﬁm %am (.?*it?ﬂl
| Or/ '\‘27?/?7‘
Write any four characteristics of destructor. ":4‘
Destructor-48 (3 (eI SMG @R et
- 6. Write two similarities and two differences befweeﬂ' queues and stacks..
4

Queue R stacks—«ﬂ?T T T%WTW @R zﬁ?taﬂm st
Or/ Wi’/?ﬁ’

" Write a C++ function that searches a given ITEM in an array using linear
search technique. If the item is found, it should return its position in the
array, otherwise it should return -1 (minus one). » 4

GG ITEM (STl AR <& linear search IR I search FHH &
G C++ function | IW item o NS A, & Breo «a I Mo =3
oA @f6te -1 (minus one) Mo = | |

7. Differentiate Abefwieen tree and bus topologies of network. 4
Network-@d tree ¥R bus topology ~45 X AL @A | |
Or/ @21

leferentlate between GSM and CDMA 4
GSM §a¢ CDMA-ER (&) 2i4y (7l | | |

X

28T CSCA (BENG) A [10]
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- GROUP B
(Old Course)

1x10=10

Answer  the tollowmg questions :
- TOT e Sy g .
(@) What ig identifier“.? :
Identifier s
®) What is the difference betV\-/een = and =in C%+ ?
Chr S==g - ﬂ?ﬂ%ﬂéﬁﬁ».
(0 How does a class enforce. data-h1d1ng inC++ 7?7 |
C++ &Q?I class GoCS © data-hiding [FeI@ ?JNVT ?P?T 337 ?
(d)  Write one property of static data member.
Static' data member g <56 457 @A |
(e)- What is visibility mode ?
Visibility mode %1 ¢
(/  Explain scope resolution operatdr () in C++.
o CH+3F seOpe 're'solu_"cion' operator (::) 9% RELe JIROT |
- (9 ’}What is Queue ? |
o Queue Je
() What are the two searching techniques available in data structure ?
 Data structure 9 2R 73, AP AR CEICESEST |
(1)  Whatis Compﬁter Network ?
Cemputer Network 312
) | Explain bandwidth.
Bandwidth & 17 T |
28T CSCA (BENG) o [11]
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2. Explain the following qtiestionSu 2x10=20

SNE SR R R

(1) How while loop is different from do..while Ioop ?

» Whﬂe loop %@r@ dcv).;whiile loop (AP 91216?
i (b)‘ * What will be the Value.éf the folllox'/vintcvjr ﬁrogram: segment ?
Dj (45 program segfneﬁt ﬁz T RFgE@e. ' -
Sfor (i =10; i<=40; #=10)
k=1i/2;
Pfintf‘(" %.d\n”,k'); // or cout<< o <<"\n" ;

}

(c) D1fferent1ate between the followmg two statements. (Assume ‘time’ is
class name and having paramete1 ized constructor)

Fie orewt Rgfe gioa e« 9(ﬂmw time’ class fBa W5 @

parameterized constructor HCR) :

t1me T1 (10 20, 30); // statement I |
time T1 = time (30 20, 10) // statement II

What is the difference between public and private members of a class ?

(d)
«3fo class @9 public '@ private member & WX AL 1 2

28T CSCA (BENG) [12]
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L (@) Write, ’ : . -
T ey class-¢g

i P}“Qgra_mming o7 Fﬁq : o e

class bankaccotnth e o A C

L -
. Ibacengf i 0 sln e s
public; .

&l .bankacéqu11t (baﬁkac’coﬁnt&@ Vs ’/.constructo_r;l e

~ 8¢eno = p.accno;

bankagcount (int p) // constructor 2
. ‘accno= p;
b

() Create an object such that it inVokes constructor 1.

RtEaiY object o T Tw @fb constructor 1 (3 I B |

(i1) Create an object such that it invokes constructor 2.

0 object (ST Tl TS G constructor 2 (F I T¢I |

(f) Write a class definition called string with two private data members
called length and name of type int and char respectively. There are two
public member functions getdata( ) and display( ) and one constructor.

String S class FHC® 7o length 8 name St private data member
IR IR G type T G int '€ char | G 7io getdata( )¢ display()
NG public member function ¢ Y6 constructor IR | CIassic—ﬁ?I FRER
CeTCRT | ‘

28T CSCA (BENG) o [13] Contd.
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() State two conditions under which Binary Search is étpiiliéable. ‘

()

o8
)

28T CSCA (BENG) | [14]

Binary Search (i Fc® W ?;(7%“1'\5 Glel AI. i

Consider the following stack of characters vimplevmented as an array of

" 8 elements :

8% @W"TFF{,L\TB" ﬁarray Wﬂ%staek% CWGXIT W 'ia@ﬁ“ TGl

STACK [A|J |P|N

s top

" Describe Vthe‘ stac_k if the following dperatiohs take place :

‘Stack 1 S, A TG (rew PR A 2

() POP(STACK, ITEM)
(i) PUSH (STACK, K)

Explain the concept of Bus Network Topology with a block.diagram'.

Bus Network Topology-<d el foram LI P! A | |

Write two adVantages of STAR topology.

STAR topology~<3 7o Rk Ry et |-
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3 - (n) * Draw a flow cl ‘ .
i3 . el Sty cad anumber and find the sum of the digits.
Ans : : "o i 1 .. I 3

ml WQWW%@WW@N\%@WW C’JT‘fRFG'*Iﬁ‘fEI

() What wi o ' ) N
o L he e Qutput of the -folloWing program segments ?
_ | | v e

ﬁ ICEEJ PrOgram segment-%a cQ[zas a‘?“r W GI\CR) fﬂ@ ?

mam( )

{

BN

- int 1=0; ./ /-zero
while. (j <= 30)
. K -
| cout <<j++ << “\n”;

jt=3

(c)  Write a program in C++ to input a number through the keyboard and
then to reverse the number and to printit. = 3

Keyboard -3 IR GF6 5T @R Ty €= 9{@ TR v?tc%‘t I
Qofid &) C++ 9 &6 program (&TCAl |

28T CSCA (BENG) [15] | i
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e (n) Find the syntax error (s) if i and correct it (Underhne the correcte

d

i 1
P

4

i
[ R

statement)
T NI T @Ui(trﬁ sﬁmw QIW) \mas@ @m | (@%ﬁqﬁ‘? undeﬂme
PR |) | | : ;
contest class
\ { s
intx, y; :
contest () {} _
contest () {x =10, e 20 }
~ voiddisp ()
| {__cout << x <<y <<
\ ,
I
main () -
{
~ contest a;
a.disp ();
N } a E
(b) Con31der the followmg class declaratlon and answer the questions
below :
s reT class declaratlon—@f% ﬁ@W @ eeolm om Ted e
class AUTHOR ‘
o
char aname[SO] int aid;
public: | |
void read();
void show();
> .
class PUBLISHER : public AUTHOR
il
" protected : iy
“char pname[30];
public :
void getpublisher( );
~void disppublisher();
b |
28T CSCA (BENG) - [16]
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. { éss BOOK:public PUBLISI—IER 17 1k s A

int bookcode

char bname[3(
. public : [ ]

void getbook( )
void dispbook( ); |

: B ;

()- : Name the data members which can be accessed from the member
functions of class BOOK. ; ‘ ;
Class BOOK—kﬂ? member function W CQI'@D" access FHCO At
data member STCRI IS CeTedl | ' '

(i) Name the data members and member functions, which can be
| accessed by an object of class PUBLISHER.

PUBLISHER class-49 object &G access FHCO ACH 3 data
- member € member function FCRF AN CeTel |

(c) - Define a class to represent a STUDENT with the fbllowing' members :
4
. > reH member @t M STUDENT-AH G kﬂﬁ class aefrn i

" Private members of class STUDENT :

Class STUDENT—&QZT private member JIX :
rollno, name, marks of MIL, English, Physms Chemistry,

Maths, total

‘(Use suitable data type) |
(FJfR4ieE= data type TIZF FAR)

Public members of class STUDENT :
(=7 YA (class STUDENT) public member 32 :

readdata () : to read initial value
. calculate () : to calculate total marks

disp () : to display information

. 28T CSCA (BENG) - [17]
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(d)  Write a program in C+ to print the factorial of a given number using
a constructor. 4

Constructor 91944 T(il’ GEHI vlgnmz; factor ml Q[v[m Giel] o CH+ ceesI
G |

- Or/ gt

Write a C++ Program to generate the following series of numbers :
ST TR (XN (series) M9 0O Gl C++ C2lalls el -
0 1,1.2 3 5 8

(e) What is reference variable ? » ‘ 2
Reference variable 12 ‘

| Or/ 9241
What is data encapsulation ?

Data encapsulation §1 2

SJ"I

- (1)  Write the steps to search 34 using Binary Search in the following array

Al7] - ; ' 4

A[80 | 70| 60 | 50 | 40 | 34 [-30

T3 "Fel?{ A[7] -4 Binary Search #f&{® <& @ 34-99 TR FACO \
JEZZH@-%!IZI PANCFZPTR (TN

o 1.2 3 4 5 6
A {80 |70 | 60 |50 |40 | 34 | 30

Or/ 3l |
Wrife a program in C++ to implement Binary Search algorithm for N
numbers stored.in an array. -
NG 7247t wfdes QW “F&IW GEIIAY) Bmary Search #@[ IRLK T W
C++ CEIES CoTell |-

28T CSCA (BENG) (18]
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(b)) Writeana]

a single dj i | |
elemgntsciln},ellslonal array A [UB] where K < UB. The number of
urrently stored in the array is N. 5

ST A[UB)

(®ITEM g ‘ paE
(A K < UB, ¢ P K- Sirsiiz ©fS 200 algorithm

W Eire N 5 e Res iz |
Or/ g2t

E s T
Xplain ‘Best Cage time complexity of insertion or bubble sort.
Insertion A bubbple Sort-«q ‘Best Case” time complexity RURIEEEL
() Define TOP. | 1

TOP-93 et oy

Name different layers of OS] reference model.’ | ' 4
OSI reference model-95 &fs BLACRS I (ST |
Or/ &12<t

Describe the three basic types of cables.

Cable 28 fo75 CTfeRe 2i<witae 901 el |

28T CSCA (BENG) . [19]

EOrithm to ingept apy ITEM of information at K-th positionin t



